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the number’?
ST Tohet G&AT | 24 7 i T STl B
I8 T AT 115% BT ST g1 HEAT T 872

(a) 160
(b) 250
(c) 200

(d)100




fexpendituresincreases-by.only

th SSC CGLE7THSL/CPU=2022-23
en by how much percent

consumption should decrease?
HTHT F =T | 30% it i it gl Tis
T FAA 10% T d&dT g ar @ad | foha«
TTQera ht AT T2

(a) 14.29
(b) 13.68
(c) 15.38

d) 16.54




%0 e kisiecomedi_sher o3
3, then her tota ncomels

Awq?ﬁamra?mz% T F9d FLdt gl Ti< a8
¥2,16,128 @< Hdl g, Al Sh! T Y &
(SSC CPO SI 2019)

(a) 2,43,560
(b) 2,42,063

(c) 2,45,600

d) ¥2,48,000
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y. By what percentage, correc o
one demmal place, should he reduce his
consumption?
i< 1 F =T | 17% it g 31 A1 § M
FIs SAT<h AT G § AT 7% T 21 Iheg FLAT
ATEAT g AT S° @Ud A Foha TTAera st AT LAl

. ~PErson /Vﬂjhf*ﬁfo’jnn}'ﬂﬂv?fﬂgﬁpﬁ&%\jamp&g TdIOTE
A 3 ,

ZNfr? (SSC CGL 2019)

(a) 8.1%

(b) 8.5%

(c) 8.3%
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by what peréent i€ Allesstiligny DPO - 2022-2.3
A, B ¥ 25% 39 & 3T B, C & 40% F |
7fe C, D & 30% 1fd=F &, qT A, D & T
Tiaera FH7 872

CGL Mains 2019)

(SSC

(a) 1.5

(b)2.5

(c) 4



Ex-6. The price of an article is cut by 3% To
restore its original value, the new price must
be increased by

Tsh I T HiHd | 3% il e < STt gl T
T AT AT 6 T fohae giaera § g vt

= (b) 7.11 %
(c) 3.09 %
(d) 2.69%




Ex-7. If the radius of a circle is in creased by
25%, its area in creased by:

i< Tk FATHRIT i (3941 | 25% 1 Fiag i
STt @ AT ST AARA [ohad T(QAT I@ STTUIT?

(a) 50%

(b) 28.125%

(c) 25%
=»{d) 56.25%




e ———
SSC CGL/CHSL/CPO - 2022-23

Ex-8. A man spends 59% of his income and
saves the rest. What percentage of his
expenditure does he save?

Teh MEHT TTAT 3T FT 59% TH FAT g 3M<
qTeht hl 9T FLAT g IG AT & FT [hal
TTaera 9q HLar g?

(a) 72.57%

(b) 83.19 %

==(c) 89.09 %

(d) 69.49%
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Ex-9. If the side of a cube is in creased by
20%, then what will be the percentage
increase in the volume of cube?

i< T I 1 STAT H 20% 1 i &t 1T &,
a3 T | fohae AT it Jhag SN2

(a) 60

(b) 66.6
(c) 72.8
(d) 68.5
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Ex-10. If the radius of a circle is de creased
by 10%, then what will be the percentage
decrease in the area of circle?

i< T g hl BSAT H 10% T FHHT il STT @,
ﬁﬁ%éﬁﬁﬁﬁ%ﬁ&ﬁﬁﬁ?ﬁ@?ﬁ?

(a) 19
(b) 20
(c) 21
(d) 23
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decreased by 20% and breadth is
decreased by 40%, then what will be the

percentage decrease in the area of the
rectangle?

TT T I 0t AFATS H 20% T FHHT vl STTAT

gl TIAT AT H 40% 6t HHT il STt @, qv

AT & &AH H fohaa TTaera 6t HHT A2
= (3) 48

(b) 52

(c) 60

(d)40




@ Ex-12. The pri€ o Oiiéycle depre 2i
t-' every year by 8 A> If the value of the

motorcycle after 2 years will be Rs. 84640,
then what is the present value (in Rs.) of the
motorcycle?

T HICT G Thed & T H TAF 94 8% FT 34
BT g1 TiS 2 Y 918 HIST ATEIH T o4

84640 FIF T, AT HIET TS (A T AT
TeT (T H) F47 872
(a) 90000
(b) 102000
=*(c) 110000
(d) 100000




Ex-13:In F:?Fjé @C—/{LT?TJ{MW \Af/\clgﬂn/u”\ C f _' 5% of the
voters cast their votes, out which 2% of the votes were

declared invalid. A candidate got 9261 votes which were
75% of the valid votes. Find the total number of votes

enrolled in that election. \
< IFHIEATU & 1= Ueh AT |, 75% HAQTArsi o Jq4T 1
ST, TSR | 2% 12 ¢ F1ud FR QU T0| Th SFea

T 9261 Hq At ST 34 TAT AT 75% AT| ST AT H ATHI v
qal T T TEAT AT 9T
(a) 16400
= (b) 16000
(c) 16800
(d) 17000







